
Calcule.

7 x 10 = 70 80 x 10 = 800

2 x 100 = 200 30 x 100 = 30 000

9 x 1 000 = 9 000 80 x 1 000 = 80 000

 5 x 60 = 300 4 x 70 = 280

60 x 2 = 120 9 x 30 = 270

50 x 50 = 2 500 60 x 70 = 4 200

400 x 5 =  2 000 600 x 3 = 1 800

40 x 800 = 32 000 30 x 700 = 21 000

500 x 600 = 300 000 70 x 6 000 = 420 000

400 x 900 = 36 000 3 000 x 400 = 1 200 000

100 x 2 = 200  100 x 10 = 1 000

10 000 x 100 = 10 000  4 x 40 = 160

80 x 80 = 6 400 7 x 70 = 490 

100 x 3 = 300 5 x 500 = 2500

200 x 200 = 40 000 60 x 70 = 4 200

Pour diviser, on ne pose plus de 0. On le enlève.

4 000 ÷  10 = 400 5 000 ÷ 10 = 500

60 000 ÷ 10 = 6 000 14 000 ÷ 100 = 140

250 000 ÷ 1 000 =  250 1 000 000 ÷ 100 = 10 000

250 ÷ 10 = 25 145 000 ÷ 100 = 1 450

2 000 000 ÷ 1 000 = 2 000 340 000 ÷ 100 = 3 400

356 000 ÷ 1 000 = 356 10 000 000 ÷ 1 000 = 10 000


